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- SECTION-1I
g1
CHILD DEVELOPMENT AND PEDAGOGY
There are 30 questions in this section.
6e All questions are compulsory.
TGS el 30 WAR |
Tt 7 e € |

1. According to Jean Piaget a child in formal operational stage is -
(A) capable of abstract, hypothetico deductive and propositional Thinking .
(B) Are bound by centration and inversion of thought
(C) Cannot conserve, classify and seriate
(D) Begin to engage in make-believe and Symbolic Play
i TS o STER e S Sishaie e -
(A) 31t we aRenfeda difdhenar o aferafy o w Hamed €1
(B) =ietvl T STehHug O H o1 €1
(C) eeor, arfiareor  Sofierga it H WaH T ¢ |
(D) W 3R G Sl 8 S A IR H € |

2. While writing, a child uses his whole plam before using his fingers. This process reflects which principle
of development. |
(A) Specific to General Progress (B) Cephalocaudal
(C) Proximodistal (D) Irregular progress

for W Tt aereh g I A1 e TS % e Snfert s & e ot QU we B e for 3
fore fagia = el F g - ‘

(A) fafire & g FRAET Fd (B) fatheiepreer wif
(C) Wfrmifeea wifd (D) sifraf wifa
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3.

X

According to Urie Bronfenbrenner, social customs and cultural values are example of which of the

following ecological system-

(A) Microsystem 4 | (B) Mesosystem

(C) Exosystem (D) Macrosystem

A T TR S e U St e e ¥ foe iR 1 % SRR -
(A) TEATSA (B) TeAmvSd

(QEGREES (D) Feq Hve

Which of the following represents a characteristic of gifted child.
(A) Lacks reading fluency

(B) Can think of original solutions

(C) Tendency to get distracted easily

(D) Ability to learn quickly and independently

Frafafed § & e forrdn T giaummed st # 2 -

(A) 9/ Y4 g H et |

(B) whferes TaTemi & SR H W= i &

(C) st & forafera g i 3Ted

(D) ¥ieraT Td Wda &9 | Hig i dred

A person states his morality according to prevailing current social norms,rules and regulations. which of

the following is his level of morality as pef Lawrence Kohlberg -

(A) Pre Conventional Level | (B) Conventional Level

(C) Post Conventional Level (D) Non Conventional Leve]

Freerart % AR mmﬁwwmﬁ@ﬁmmﬁﬁwﬁmﬁmm
et sreran el 3 STTET SRl " i Afireha v v TR e T

(A) g8 T T (B) T &

(C) I¥ T ®I (D) R T =

P.T.O.
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6. Which of the following is not a process through which meaningful learning occurs -

(A) Repetition and Practice
~ (B) Instruction and Direction

© Exploraﬁgg and Interaction
(D) Memérization of facts and Rote learning
et # e e wfoman e & for gro arehyot afim sfe ¥ -
(A) TR T 732 |
(B) fiw wl w=mem
(C) et foram foret T st

(D) WAl Wl AT TE HUSTY HET

7. Choose the incorrect statement -
(A) Human life begins with one single cell zygote.
(B) Gene is unit of heredity
(C) Heredity is an environmental reason which influences development
(D) Mendel is known as father of heredity
firmferfian el & & s o 1 a B -
(A) TFE STta T S i : T 1T TS § Hfed g € |
(B) it % argeiferan st gee W St 21
(C)WmﬁyWﬁwW@WW%l
(D) et 1 SRR 1 SFF A STAE | o
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8.

10.

Initiative v/s Guilt stage of Psychosocial Development by Erik Erikson is related to which of the following

stage of development.

(A) Infacy (B) Pre Childhood

(C) Later childhood (D) Adolescence

QR % AT FaGT ot sraen wae A ST A o5 e P ) R a8 A o -
(A) S (B) 4 A

(C) ST Arcar=en ' (D) fereirmarean

Which of the following is not a characteristic of learing -
(A) learning makes relatively permanent changes in behaviour
(B) Learing is a continuous and acquired process

(C) Learning is always observable from outside

(D) Learning includes an experience in itself

Ao ¥ ferdraar 7 2 -

(A) AT & oraer # 219 9 TfEda g et e € |
(B) AT U T T& Al afman € |

(C) @iferm Wl e Sftzma A |

(D) #Aferma # T WhR 1 S WA @ e |

Highest stage of learning according to Robert Gagne is -

(A) Concept Learning (B) Problem Solving
(C) Chain Learning (D) Signal Learing
a3 W3 ¥ ATaR Al e T E -

(A) Torcga Afer (B) |1 AHIEH
(C) *faen Aferm (D) da aftrm

P.T.O.
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11. Math the following and find correct answer.

™

List - II
(Concept)
1. General and Specific factor
2. Fluid and Crystallized Intelligence
3 Triarchic Theory of Intelligence
4. Multiple intelligence Theory

W S W s o

-1

(H9ed)
1. 9 TE e e
2. wfre wd foreeamss 4f
3. T T gramfR g
4. 5ggs fagia

List -1
(Psychologist)
(a) Cattel
(b) Spearman
(c) Gardner
(d) Sternberg
Code :
a b g
(A) 2 1 3
(B) 2 1 4
© 1 2 3
(D) 1 2 4
-1 ﬁ@—llﬁ@ﬁam@qﬁwmwm_
-1
(FRERIT)
(a) e
(b) T
(c) TR
(==
E TR
a b c
(A) 2 1 3
(B) 2 1 4
© 1 2 3
(D) 1 2 4

PT.O.
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) | X

Which of the following is a symptom of dysprexia-
(A) Difficulty in understanding alphabets

(B) Difficulty in mathematical calculations

(C) Difficulty in holding pen and writing

(D) Difficulty in pronounciation of words.
Frmferfar & & e e 35 wremi § 4 T &
(A) Tt To H wwn

(B) TfOrta IO i H wwen

(C) T et T AR ferem H wwen

(D) T & SR bl §HET

A 17 Year old woman has been binging in large quantities of food, above and beyond, what most people
would eat under similar circumstances. She then engages in purging behavior as often as 3 or 4 times a
week. she feels she has no control over it. The results of her physical examination are normal and she is
normal weight.

She is most likely suffering from -

(A)Anorexia nervosa (B) Bulmia nervosa

(C) Bing eating disorder ’ (D) None of these

17 0 i e e R 3 st e T e T ST ) ot SRR T e <

1 35 9% IE T wﬁ3m4mmmwéﬁ%|%ww%ﬁﬁmwmmqﬁ%l
Iqeh! AT it & IROm T § SR oM off g |

safees e & o e e e & -
(A) Tt ften (B) gfafiran et
i (O) ¥ Ff

P.T.O.
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14. Choose the correct option from the following list.
List-1 - ;
List - 1I
(Event) . ' (Psychologist)
EZ)) g(l))ser.t\;anc;\r/l[Leanng , 1. Skinner
ve
(c) Asilcl:iaﬁon :If):tween different St el
timulus 3. Bandura
(d) Learning Leads to Cognitive Develoment 4. Pavlov
Code :
a b c d
@ 2 1 3 4
® 3 1 4 )
© 3 4 1 2
(D) 3 1 2 4
-1 = G=i- II%WW@WWWWW
E-1 -1
(we) . (AERITR)
(a) &gt A 1. fE=m R
(b) TFHTHS WA=V (Cogmtlve map) 2. SETCEhl
(c) Tt St <t TE=d 3. 9mUgy
(d) ST e foehTe ot 37 S ST € | 4. gE@E
ETE
a b C d
A) 2 1 3 4
(B) 3 1 4 2
() 3 4 1 2 ;
(D) 3 1 2 4
Which one of the following is not a correct way of stimulating creative thinking ?
(A) Brain-Storming (B)Keepa diary -
(C) Mind-Mapping ' (D) Offer Money
ﬁuﬁf@aﬁ@raﬁw—mwmﬁﬂﬁmﬂFﬁwwmqﬁ%—
(A) -t ‘\ (B) <t T
(C) witrsh FaHfTehTl | (D) &7 I Wi T

PT.0,
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16. From among the following who theorized mostly on the concept of 'Achievement Motivation'-

(A)Rogers, C.R. (B) Julian Rotter ~ (C) David Mc Clelland (D) Victor Frankl
o 3 @ fere ‘Swafsnr sifirireon’ & e fagia Frfor @ sfirmivm: w0 fn -
(A) T, .9 @)t (C) s twdidve (D) foret e

17. Bandura's social learning theory had the main focus on -

J (A) Moral emotion (B) Moral Reasoning
‘(C) Moral Behaviour (D) Moral Emotion and Reasoning
UG F o St fagia w1 wE w5 -
(A) i gam ' (B) i 7k
(C) Ao =R (D) At Ham Tk

18. According to NCF 2005, what is proper way of evaluation of students of class 1 & 2-

b (A) By written examination (B) By oral examination
(C) By both oral and written examination (D) By observation
T T 2005 < FEGf % STTHR, el T o e F ferenfldi 3 fore geion < i o SR -
(A) foafga Tdeor & 3R W (B) Tftaeh wlemr & SHR |
(C) faftaa wd Hifias 9ievr & MR | (D) 9&I01 % MR |

19. According to NCF 2005, what comments have been made on textbook in systematic reforms section?
(A) Text book selection and writing must be given to one subject expert

(B) Only feedback of teacher should be considered while preparing textbooks

(C) Libraries should be shared between different schools

(D) All of the above :
mmﬁmzws%mmgmﬁmmﬁmeﬁ@g ?
(A)Wm%ﬁ?ﬁﬂ%!ﬂqmﬁwﬁmﬁhml
(B)mwmwammﬁmmmml

(D) 79 g it

P.T.0.
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20. First stage of Action Research process -

4 (A) Formulation of Action Hypothesig

(B) Action Programme
(C) Identification of the Problem : (D) Defining and Delimiting of Problem
fomarceieh STTHY Sht sl i em <oy § -
(A) e e oy (B)shurqﬂw
(C) 1 hit U&= _ (D) wEE TR T R
21. According to RTE 2009, minimum teaching hours at Upper Primary Level are -
¥ (4)800 Teaching hours (B) 1000 Teaching hours
(C) 1200 Teaching hours (D) 1500 Teaching hours
Toren = StferpR rfufm, 2009ﬁ@ﬁmﬁﬁﬁmwmﬁmﬁwﬁwmﬂm
feran T % - '
(A) 800 TRreqor s (B) 1000 fregor o
(C) 1200 fregor swe (D) 1500 freror wroe

22. A test formulated to test the developed skill and knowledge of child is called -

(A) Diagnostic Test . | . : (B) Achievement Test
(C) Sociometry Test (D) Norm Reference Test
fereneft % forenfir spieret e 9 A1 TOETT HEe ¢ -
A) WiEwem | (B) Swaifed e
(C) wHrSifHfe whiegor | (D) #reh w=fia e
23. Many commissions have recommended increasing of iﬁt_emal exam so as to reform educatio:n because -
(A) They are more impartial. (B) They are more valid and reliable.
(C) They evaluate all aspects. (D) This evaluation is neutral. -
R 3 g e et el e i st e 8 e 0 % e e
Gﬂ'ﬁ_ i
(A) aiferes Froae Gt &1 (B) *Hferm o v fervararfia St &
(C) woft weli ot e R B | IR R ——

L i P.T'O.
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24. Choose the incorrect statement with respect to psychoanalytics given by sigmund freud.
(A) Id deals with immediate gratification of primitive needs and sexual desires.

(B) Analysis of forgetting, mispronounciation and jokes provide us with a means to approach the
unconscious. ' ‘

(C) Defence Mechanism given by freud is a way for Id to deal with the uncom fortable feeling Produceq
by anxiety

(D) According to freud, the core aspect of personality are established early and remain stable throughout
life.

TGS o FAIITUMES & e H s e € -

(A) SeH 1 Yoy =Afth Y i sTavasmaiet 3R Hrissel € ¢ |

(B) Toreivn, 315 SR, Wi TIf 3T b Tg= ohl e |

(C) TS TR VIR e el gfel G St o i Taw, 3 il 0T T |

(D) FTe 3 STTER =Afoe 3 iRk e R e @1 5T ¥ of sftor vt feo o A €

25. Choose the incorrect pair -
(A) Sheldon . Classification based on Physical Structure
(B) Spranger  : Classification based on Social Attributes
(C) Hippocrates : ~ Classification based on Psychological Features
(D) Canon . Classification based on Endocrine Glands
(A)deea  : YORE U STER W iR
(B)T=R ;ISR O SR R AR
(C) feoiipe ;TR T[T % SMER T hL0T
(D) % . 3fd et T S STER R iteor

26. How many cards are used ona single person in Thematic Appreciation Test.

(A)30 , (B) 20
© 10 (D)5
forea anreaite e 3 T SAfE R fher 1y & o ¥ -
(A) 30 (B) 20
© 10 (D) 5

P.T.O.
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Which of the following is a demrit of verbal Group Intelligence Test -
(A) There are possibilities of cheating in these test
est.

B) Exami : .
(B) Examiner feels diffculty in control and management witlo administering these ests.

(C) Examiner does not get time to . . : -
get acquainted with one personal feelings of examinee.
(D) All of the above dhamedw d s '

frafefed 5 3 wfeeh wrfesh wham o 2 3 -
(A) T8 T & Tehed hY TTerT st et &

(B) ¥ RI&T 5 e G0 Feier o e # vy o 31
(C) wrgfess e  wlensdl 1 Froft st & wifg 25 1 ST T foreran |

(D) 374 =t

Which of the following is not direct method of adjustment.

(A) Sublimation (B) Rationalization

(C) Repression (D) None of the above

FHESH %t yae e T - |

(A) SR (B) wfEra

(€)= - (D) A RE

Which of the following is not a reason behind child deliquency -

(A) Strict Discipling by Parents (B) Organizing co-curricular activities in school.
(C) Facing physical and Genetic defects (D) Poor economic condition

firmferfiad # & et 7o %1 BRI e € -

(A) =T it gRT FHIR TG (B) feremera # e Wferss Tfafafeml o i
(C) T 7 arrgaiferes < @ fad T (D) FHSIR 3iffer fearfe

Individual Differences can be studiedby -

(A) Achievement tests ‘ (B) Personality tests

(C) Aptitude Tests (D) All of the above.

sfepTa F=Te o1 STeAFA feham ST Wehel € -

(A) SUefes T gR (B) A wlierr gra

(C) f¥rerear Tl gr (D) Sudw Wit
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goft w5 A |

frder: Frefefen Taiw & smaw o g wE 31 9 35 T & I Gl
k- e STTART iR Sl 3 T & WA % WA HeThreA- e iR FETI SR 3 4
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<1 37 g i i orTe Frar 3 o S ST aEl e |
31. "HETRE" HEAMR -

(A) ST (B) FHuRE

©) fa (D) Tgshel
3p O Y R e 2N |

(A) TH + I | (B) T + 37

(C) T + 3 (D) < + ST

33 e A Y - v ved § Fiia =@ g

(A) St (B) fafaa
(C)3 98 (D) Afaw
34. ey B Fa faed AR R R |
(A) e - Al (B) et - Tmhtor
(C) Hge - 4= D) Tt T ER )
35. ﬁmﬁﬁaﬁﬁaﬁaﬁ*ﬁmﬁ%u

pT.0:
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45.

46.

47.

48.

49.

50.

51.

(16)
Eq-{mﬁﬁ%“ ‘ ' f AR 1
CVR (B): -
©= (D)/
'O FETd T 1 3T T avrerlt 3l o T | Y@ifeh i ¥ |
(A)WWH (B)Wmﬂ
(OREIREEL! (D) e Wi

"o T S T B S e e R

(A) r=rehen (B) aTrifer e
(C)ufthen \ (D) ST
forer 3 X B oaw W T

(A) T (B) @i

(C) Tt (D) %
FETH A A T Yy TR |

(A) T ey | (B) Y& X

(C) ser for@ ! Y (D) fer oM
.............. U ST et TRIeTuT ) WTE T W e Sl 8-

(A) STeeA | (B) HoeE

(C) foret e (D) AR

T faneror  vregrel e S fafyr ¥- ‘

(A) STner faifer S (B) s fafu
(C) e forfer oo (D) Every fafy
3T T2 TEATY -

(A) fore wifty 1 STHET-ATTH TTeherT

(B) fareror wiswan 3 SR SR - ToHIH e

(C) atferm 3 feTq STTehaT - HRIRIICH STTehaT

(D) Sheafires whzwen A 7o B ¥ Verfireh W o st fver st

P.T.0.
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52. IS &I <l IRH IR -

(A)qE TS (B) S

(C) srhn (D) T
53. Jedt YR <l fieror Onmi ¥ -

(A) FaifeT =g @®) e
54. AEHO-ATAR fof 1 o fFa T Y S S E -

(A) Tty fafu (B) <verd faftr

(C) vvsra fafy (D) g Yomit
55. ekt =i <ewm  wems ¢ - _

(A) e T (B) ae-farg

(C) freiw D)™

56. <@ AT T YOI qoh TG €, AR fora SeH Y WAS S § | A R 6 g 98 he
from T -

(A) 31 (B) U=
(C) Wi (D) 3
%57. a7 fireror &1 fagia ® - , -
ﬁ (A) Terarefierar =t fagia (B) &= =1 fagi
(C) Tarfeshar 1 fagia (D) 3w ot
58. mwuﬁﬁmﬁaﬁm@mw%—,
(A) e g . ' (B) SR YRR I
(C) ¥a-3H ¥ (O)ERETURE]

59. frerers wheo YA § - ~ .
(A) B3 F ST fergdl & 0N A1 T AT (B) BE T A Hiaedl g H

(C) BT I ST=RTCHS T&IT J& 6T (D) 3w wsft
60. T T ST s % Ge Afeeh 94 | Helfer & T ¥ - |
(A) e IV ‘ (B) fawarsor sy

(C) Iea d sfugfa (D) = feren

RT.O.
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SECTION-HI
LANGUAGE-II
- ENGLISH
There are 30 qués'tions in this section.
All questions are compulsory.

Direction (61-65): Read the following passage and answer the questions.

It is not luck but labour that makes man. Luck, says an American writer, is ever waiting for something to
formup; labour with keen eyes and strong will always turn up something. Luck lies in bed and wishes the
postman would bring him news of legacy ; labour turns out sixand wuh busy pen and ringing hammer lays
the foundat10n of competence. Luck whines, labour watches. Luck relies on chance, labour on character.
Luck shps downwards to self indulgence ; labour stndes upwards and aspires to independence. The
conviction, therefore, is extendmg that mtelhgence is the mother of good luck. In other words, that a
. man's success in life will be proportionate to his efforts, to his industry, to his attention to small things.
. Which one of the statements is true about thé passage.....

» (A) Luck is necessary for success.

(B) Success depends only on hard luck.

. (C) Expectation of good luck always meets with disappointment.

D) Success is exactly proportionate to hard work.

‘Which one of the following is the most appropriate title for the passage ?
' (A) Luck always favours. - (ByHard work is the key to success.
(C) Intellligence against diligence. (D) Competitive strategies.

' In the above passage ' Therefore' indicates....
- (A)Addition  B)Result
(C) Emphasis (D) Reason

- "Itis not luck but labour that makes man."

'~ Find out the linking device in the above sentence.

. (A) Labour | (B) Luck
: (}}But (D) Not

PTO.
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65. Luck relies on chance but labour
(A) Rely ' ' (B) Do not rely
(C) Relies : }DT Does not rely

Direction (66-68) : Read the poem carefully and answer the following questions :

"0 young through all thy immemorial years !

Rise, Mother, rise, regenerate from thy gloom,

And, like a bride high - mated with the spheres,

Beget new glories from thine ageless womb !

Who will buy these delicate, bright

Rainbow - Tinted circles of light ?

Lustrous tokens of radiant lives,

For happy daughters and happy wives."

66. The rhyme scheme of the first four lines qf the poem is. ‘

(A) abab | ~ (B)abbd
(C) abed | ~, (Dyabba

67. "Rise, mother, rise regenerate from thy gloom." contains an example of.

(A) Simile ‘ (B) Metaphor .
)g) Alliteration b d bt e (D) Pun
68. Inline no.03, we find an example of -
<(A) Simile (B) Consonance
(C) Metaphor - (D)Allegory

69. Assonanceis :
(A) Repetition of consonant sounds
(B) Repetition of vowel sounds in closely associated words .~

(C) Repetition of both vowel sounds and consonant sounds
(D) None of the above

pTO.




T-2

(35) X
0. " Truthsits upon the lips of dying man". is an ex ample of -
(&) Simile .. —~(B) Personification
(C) Allitreration (D) Pun
. Anomalous finites are : s i
(ATh (B) 13
(OR?! (D) 22

____God bless Monika with a daughter ! (Prayer)

Fill in the blank with the appropriate modal.

(A)Can (B) Might
@«May - (D) Should

. Find out the incorrect statement.
(A) Drama is the representation of the action on the stage.
ama is the presentation and perfofmance of plays for the theatre.
(C) A drama has a plot, characters, dialogues and an outlook on life.
(D) A dramatist speaks through his characters.

Petrarchan sonnéts are in the form of :

(A) Three quatrains and a couplet =~ (B) An octave and a sestet
(C)Both'A'and 'B' (D) None of these
5. Anelegyis:
.«m mourning song (B) Areligious song
(C)Ajoyous song (D) A spiritual song

6. The full form of IPA is- 4
(A) Italian phonetic Association (B) Indian Phonetic Alphabet

(C)hiternational Phonetic Alphabet (D) International Police Association

PT.O.
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(36)
| 77 The ﬁrst Sound m the word lPSychology, iS transcribed‘as J
(A)/p/ v B /s/
(©) /ai/ (D) /a:/
78. Which s the correct transcription of the last sound in the word 'to’ ?
LA/ (B) /o/
©n ©)/u/

79. Pick out the correct transcription of the word "En'glvi'sh' 3
(A /Inglf (B) /Inglls/
©) Mpglyy ‘, (D) /InlIs/

80. Which of the following is the ‘correét ﬁanséription of the word "Vowel' ?
(A) /VDVAY/ = B) jvaudl/
© fva:vAll - | e D) /VDVRLY

81. Which is the latest and recent approach of teaching English ?

(A) Structural Approach

(B) Communicative Language Teaching (CLT
(O) Situational Approach - -~ .~ =
(D) None of these

82. The role of teacher in'CLT"is -

(A) Instructor | - (B) Commander
(C) Facilitator (D) All of these~
83. 'A home language'isa ____ language.
Family s | (B) Alien
(C) Target . (D)Rural

el

P.T.O.
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84.

85.

86.

87.

88.

89.

90.

37
The term ‘Multilingualism' gives siregs o -

(A) Academic Process (B) Socio - Culﬁlral Process

(C) Professional Process (D) Thematic Process

Aclass VI student makes mistakes jn spellings. As a teacher, you would
(A) Avoid the mistakes

(B) Say him/her to consult a dictionary

€y Show him /her his mistakes and ask to write and pronounce again.
(D) Ask him / her to speak / write another spelling.

'Remedial Teaching' is given to.
) Slow learners O BIR (B) Extra-ordinary learners
(C) Average leamers (D) None of these

The usual procedure of 'Remedial Teaching' is.
(A) Teach — Test —» Re - Test '
(C) Test —» Teach —» Re - Teach

The most reliable questions are :

(A) Essay Type ~(B) Objective Type
(C) Short Answer Type (D) All of the above

A learner is promoted on the basis of: ,

(A) Formative Assessment —B) Remedial Teaching
(C) Summative Assessment , (D) Diagnostic Test

Continouns and comprehensive evaluation stresses upon :

(A) Teacher centered education
(C) Curriculum centered education

(B) Test —» Teach — Re - Test
_(D)Teach —» Test —» Re-Teach

—B)Leamner centered education
(D) Direction centered education

P.T.O.
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61.
62.
63.

64.

65.

L

(38) X

B 1| PRl

C -1 |
wEpT

373 e e wf |

T WA IS |

firder: sreferiad Teriony aneTiee 61 7: 65 T WeT: WATEET: -

TRETSH T6: S5 ARETSE ¥aTd: ﬁmmlwsﬁwmwwmqmlm
ST ST AU HUSR 37 | FTRa ST, ferega: Tom 3 g ae T Frad | STehal: Tadsa
ARSI, RS- HHTI, ST, | U o T : FET ST Srehefeed STl et Torod Al $1hTeay
SR GGG e T e ST AR Tt Srgres<it S0t ST AR
E{Wﬁlﬂmﬁwﬁwﬁﬂmﬁﬁm@wmlww HERUITE SJgerg STl | TH: a’g’ﬂ%ﬁiﬁfg
RELERGE

TSty st Wi faeds: v -

(A) T + Y . BT+

©)wi+fy C O (D)uEn:+ Il

AR T F: TEE:?

(A) 7 (B) vaq

(C) s . D

"R 3eAT’ 3o RS T - ‘

(A) Fgsiife: (B) sTefioE:

(C) HHurE: - (D) 5%: i
Heifeafaay sTeaaus i - |

(A)sfa S (B)m

(C)u= _ , (D) uy:

T oo = ferferr? e R PTFEE
(A) wom (B) firan , o
(C) w==eit P ' (D) Wt v i

P.T.O.
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ﬁawzmmmmm,“mnmm:_
mmmwmmﬁm
R G AT AR W56 et s
- (AT | (B) &:

A yEE| 5 & Td:?

(A) TR , (B) ¥

(ORILEN - (D)w

‘6" s fedroree faa- |

(A) T i (B) =%

(C) & (D) ferer
i ﬁm@——&raﬁ—

(A) T5aT (B) 3¥=asn

(C) Sueifa: ~ (D)wRY
IR §d o WA

(A) ST (B) Togem:
? (C) Tt (D) HHuRE:

i s v frgorg AR
(A) T wfet wfd ;' (B) ST 373w W

(C) fereetorome weerai i (D) 3ufie we

RT-O-
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T2

73.

74.

75.

76.

(40)
1.W’€Rm3’raﬁqw%f@m—wﬁ¢éﬁm’ ifeT: yafimen =
2. A AT W fifig s safy)

3. Aaforag forel s T v e et |

4. TN AR TR
(A) %A1, 4 | (B) %9 2, 4
(C) % 1, 3, 4 (D) Sufe w&

TR STy fad: srgan-
(A) W¥H: STeATh; IO SR Yo S o el FHf
(B) S1eATIeR: TUG1: HIEAE TehYeRRT ST M |

(C) T Tresh fafergee sifiia firam

(D) e Ta Bi3: Aeehed A fray

Hfgarae:, 13ume st yamisher fash wafy-

ONEEEEIHEE B (B) Frmfae
(C) smmAfash | (D) TR

TETHINICTE A To1El: TR T €1 STHRYT 371 TR 9 STl e i |

(A) IS (B) saframafad;
(C) FoEd: (D) STeRahyfe;

WG BRI 39 ; FHSTE-

(A) Heher T, Aereefehtors, Sareer Jreaf-mion], Trigf:
(B) Heer7H, Hereef i, Jreaf-rHivm, Hureed, TRt
(C) HererTH, Sregf-rafore, saereelieheord, Fared, TRt
(D) FeFerTe, SAerea oo, JRdhiord, TRIH:, TRa,

P.T.0.
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77.

78.

79.

80.

81.

82.

- 83.

84,

(A) = shaRieaEn: fagm
(C) st fag

77 foryagrtan: afomn: 1 yrea=-
(A) TRy
(C) TAHETY

(A) =g Frigom
(C) Te0H T TR,

T " RIGUHSRRTHE-
(A
(©) F-5HA

‘=’ 3 m@gﬁﬁrzﬁfw— |
(A) SfeR
(C) TafercaniarmHT

‘75'33’4@5%11@&%1@@%—

(A) TAIS=IER

(OREEBINIGE

‘11 : 45" goTe F Ha W A -

 (A) TR AT
NOkkiceaieictt

(B) shorgaraa: fagm
(D) wwarEe fagr

(B) SR
(D) frarerceryeTy -

(B) @ frrterony

D T sfu faehed:

B) 7
(D) AfFa

) ERISITIERIEIGE
(D) SRR

(B) ESE I RIREIUENED
(D) waisfy

(B) TeaEw

)

(B) TRHEEY A&TH
(D) HrEigTgR e,

P.T.0.
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91.

92:

93.

(43)

SECTION-IV
Cigus-1IV
' SOCIAL STUDIES
|reR e
There are 60 questions all in this section.

All questions are compulsory.
g Evs N Fd 60 TH |

Tty e )

Asteroids are found bcajt.\wvéeh\;t‘lig orbits of which planets?

(A) Between Jupiter and Saturn - (B) Between Mars and Jupiter
(C) Between Earth and Mars =+ (D)Between Venus and Earth
gwmmﬁmmﬂawaﬁ% |
Q)T efiEE (B) et & geefl & <

(C) 3ot 9 vt & <ft V(]\))g;agea}%?ﬂa

When the sun's rays are vertically on the Tropic of Cancer, then this condition is called?

(A) Spring Equinox (B) Autumn Equinox
(C) Northern solstice (D) Southern solstice
mqﬁaﬂmﬁ%@mwm%ﬁrmﬁqﬁﬁwm%v

(A) =% Fgd (B) ¥R farga

(C) 3ad 3w (D) ol SR
The condition of high tide is-

(A) in the first and third quarter of themonth  (B) in the first and second quarter of the month

(C) in the second and third quarter ofthemonth (D) in the second and fourth quarter of the month

Fea saR # feerfer A &7
(A) e % o o T < (B) e 3 o  ficfrar wgetr 8
(C) e ¥ firdra = v =g | (D) & ¥ ficft = wrgel =rgate &

PT.O.
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. i din India?
94.  Which of the following peak/peaks of the Himalayas 1S locate

et

1. Annapuma 2. Kam

3. Dhaulagiri | 4. Gurula Mandhata
5. Makalu

(A)1,3and5 1 (B)1,2and3
(C)2and 4 | (D) only 2

e 3 e o e S e 8 feem -

1. U ‘ 2. FE |

3. Hrfry 4. T HeT
5. WIS

(A)1,395 ' (B)1,293
(C©)294 o (D) %ad 2

95. Shifting Cultivation in ﬂle Himalayan region is called-
(A) Kheel
(B) Palmadabi
(C)Podu
(D) Barigaan

et )



(45)
Match the following
List-1 . _
 Iron Ore Mining Area et List-2
1. Badam Pahar o Lo State
‘, 2. Noamundi (i) Jharkhand
3 Belladilla | . (i)Kamataka
4. Kudremukh (i) Odisha
Code - (iv) Chhattisgarh
1
®) i f : '
p v ii
(B) iii ; £ :
EC) i v iii i
(D) i i PRI
HY -
1 : @_2 :
2. Tt i, T
3. Srertet- i, st
" ' iy, BETe
1 2 3 4
iid i B EEERY ii ’
g A i iv
i iv iii i |
i il v ii

P.T.O.
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97.

98.

99.

N

(46) +
In which census year the lowest sex ratio was recorded in India from 1901 to 20117
(A) 1991 il (B) 1951
(C) 1981 s (D) 2001
WA H 1901 | 2011 ok =am fefmeaa AR SO o g fo T
(A) 1991 (B) 1951
(C) 1981 sdaill (D) 2001

The place in the earth's crust where the earth quake starts is called?

(A) Shadow Center (B) Focus

(C) Epicenter (D) Recording center

OIS e v e o e o g Y R
(A) BT ¥ B)STEFE
(C) s B (D) 3 ¥

Which of the following is a false statement -

(A)In tropical cyclones, the central part i_s C’e}lled cyclone eye. | |

(B) In the extra-tropical cyclones, Cumulus clouds form in the cold front and Stratus clouds are formed
in the warm front. o G :

(C) The direction of Anti-cyclone in the southern hemisphere is clockwise. WCEHSE
(D) Tropical cyclones are more pdwerﬁll'than temperate cyclones.

form B ) T T E -

(A)mmaﬁﬁﬁw VI 1 TERA 31 a1 W Y |

(B) e e e 2 ¥ e & B e o S A & T e e

(C) oy hemed 3 e et 1 feam =it At 8 ¥ feaw F Eeft ¥

(D) w1 et e YA Ghetdl hi e 3 s wftmemedt a1




(47) X

Whi following i e o e L,
Which of the g Snot asub-division of the semi-arid Bangar region’?

‘;‘?(A) Godwar Basin (B) Ghaggar Plain

(C)Malpura Kar auli plain (D) Nagori high land

Forg 1 2 N ST AR W 251y 47
) e (B) o e
(C) T A 1 e (D) hd 31 Y

101.'7':Which is not a tributary of Banas?

(&) Kothari (B) Kural
(C) morel - (D) Khari

T ST 1 SERI T T 47

(A) BT (B) T

(C) @ (D) Tl

102, Match the following -
List - 1 , List - 2
o Mmeral ’ | i Mining area

{. Iron Ore (i) Dakkan Kotara
2. lead-zinc - (i) Goth Manglod
3. Gypsum i (iii) Morija-Banol
4. Rock Phosphate 2 (iv) Rajpura-Dariba
Code - | |

. 2 3 4

(A)ii iv i iii

(B) iii v ii ;

(C) iii i iv :

D)iv i ii iii

. 3 PTO.
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Ty fer <6l -
i - T
Ay T 93
1. T8 3T Ik
2, ¥l . 16 TR
3. forem i, AT
4. e TR 1v. W—E‘fﬁf
%2 -

1 2 3 4
(A) ii v i i
(B)iii iv i i
(C) iii i iv i
(D) iv i i iii

103. Where was the first sugar mill of Rajasthan 'The Mewar Sugar Mill' established?

(A) Bhopalgarh (B) Keshoraipatan
(C) Bhopalsagar (D) Vijaynagar
SR T et W et ‘<t Frars R i’ ot e el 1 o2
(A) MTerTE (B) IR
(C) vhrarerarR (D) fasmr

104. The decadal growth rate (2011) of Rajasthan is?
(A) 28.41% (B) 17.64%
TSI <l S gf& T (2011) §7
(A) 28.41%

(B) 17.64%

(C) 23.15%
(D) 21.44%
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3 (49) | X

“105. Little stint, a migratory bird thyy
comes to India, which weighs only 15 grams, is originally found in
" whicharea?

(A)Atacama Desert

(B) Arctic Region

(C) Kalahari desert

(D) Sahel region of Africa

T S T ST et e fe o a1 7 i s A 3 e i 7
(A) STTRTHI T

(B) &

() T TR

(D) ST AR

106. Under which pla.n the Constifiient Assembly of India was formed-

(A) August Proposal (B) Cripps Mission Pian
(C) Cabinet Plan (D) Mountbatteri Plari
e SR T o ﬁma’mm%a%agan—
(A) 3T & (B) o vt Arsrn
107. On which of the following grounds discrimination is not prohibited in Article 157
(A) race | (B) caste
(C) gender . (D) residence
AT 15ﬁﬁqﬁ¢r@aﬁ@mmmﬁﬁzﬁﬁﬁﬁaﬂ@%mw% 2
(A) e ¥ - B
(C) fef (D) e

PTO,
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108.

109.

110.

(50) | X

Identify the false statement from the following statements-

(A) Fundamental duty is not justifiable.

(B) Fundamental duties are prescribed only for citizens and not for foreigners.
(C) Provision of 10 fundamental duties were made in the original constitution.
(D) At present, 11 fundamental duties are included in the constitution.
Frferfian worli 4 & srae e ) Tearie-

(A) 41 Tl o1e drg e ¥ |

(B) Tt et e g e, e T

(C) 7@ Gfaem § 10 Hiferer setedi ot Frae foran T

(D) =i  wiferer & 11 et e Wi 2 |

When was the United Nations Convention on the Child Rights held? ’
(A) 20 November, 1989 L ~(B) 02 September, 1990

(C) 11 December, 1992 ' (D)5 March, 2007
g T 1T SAFR HAAH i S fopar Tam?

(A) 20 eI, 1989 NERSUMIGN ({5 (B) 02 faaw=r, 1990
(C) 11 few=r, 1992 Hlel o (D) 05 W, 2007

By which constitutional amendment the‘minix‘num age of voting was reduced from 21 years to 18 years?
(A) 42nd Constitutional Amendment, 1976

(B) 52nd Constitutional Amendmeht 1985

(C) 61st Constitutional Amendment, 1989 ' -

(D) 89th Constitutional Amendment, 2003 -
mqﬁmmmmmﬁwmm aﬁm 1saﬁzh-<€mg 3
(A) 42 5if Gfee™ HAMEM, 1976 © ot (B) 52 9 diferm weim, 1985
(C) 61 dif dfasr G, 1989 ) 39»‘-3'?@%*7“ A




r T T e

512 (51) =
(11, Atpresent the scats reseryed fo Scheduled Tribes and Scheduled Castes in the Lok Sabha are respectively-
(h) 84,47 (B) 47, 84
(C) 87,44 (D) 44, 87
e AN H Ao Sy W41 i e % fer, srfs s T 8-
(h) 84,47 (B) 47, 84
(C) 87, 44 (D) 44, 87

112, On whose advice does the President decide the dispute related to the disqualification of MPs?
(A) Prime Minister
(B) Supreme Court
(C) Election Commission
(D) Speaker of Lok Sabha
e #Y 2rivrgm B wEfiaa faar % iy ot frad wee @ w2
(A) 9HAA
(B) w13 =4
(C) Fraraa zvam
(D) A%

113, Select the true statement -
(A) The Prime Minister is essentially the leader of the majority party in the Lok Sabha.

(B) The Prime Minister is essentially the leader of the Lok Sabha. -
(C) The Prime Minister is essentially the leader of the Rajya Sabha,
(D) The Prime Minister i essentially amember of the Lok Sabha,
W g ) A H -

(A) WPy A A 3 A 5 A g |

(B) yamvif afmarda: A T AL |
(C‘)wmaﬁ:gﬁma,mmmﬁmim%n

(D) yoapech W;Wmmmim%n
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(52) X
114. In which article of the Constitution the discretionary powers of the Governor are mentioned?
(A) Article 162 (B) Article 163
(C) Article 164 | (D) Article 165
T i T@ererhia ARl w1 o & frg oede i Scor fhar T ¥ 2
(A) 2. 162 ‘ (B) =17, 163
(C)=1g. 164 B (D) 313. 165

115. How much quorum has been fixed for the meeting of Gram Panchayat?

(A) 1/10 member (B) 1/4 member
(C) 1/3 member (D) 1/6 member
T = i 3 o fu feeft o o1 Frefor feran mn 82

(A) 1/10 &1 (B) 1/4 W=
(©) 1/3 = ’ (D) 1/6 ¥z&1

116. Match the following-

(a) Bronze Statue of Dancer (1) Mohenjodaro
(b) two silver crowns (1) Oman

(c) Evidence of fire pit and plowing field (i11) Kalibanga
(d) Harappan jar ~ (iv)Kunal
alternative: ) | |

A) i v " iii i

(B) i il -1l iv

(C) iii v i | i

(D) il v iii i

o1l
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117.

118.

(53)

ferfafiad < gafea Fifm-
a) ! <l B i
® . (i) AT
(b) A F T GFE

. ﬂﬁ ‘ (11) A

Afpe d
(d) TSR TS _
(iv) U

foenea:

a b . 4
@ Voo i
® i i iii v
© i iv ; ii
@ u iv ii i
Which is the Brahman text of Samaveda?
(A) Gopath (B) Shatapatha
(C) Eterai (D) Panchvish
QST S i R E?
(A) Tiag | (B) T
(Ohsie |  (D)TERm
Where did Mahatma Buddha deliver first preach after attaining enlightenment?
(A) Vaishali (B) Sarnath
(C) Bodhgaya | (D) Kushinagar
mmﬁr%aﬁmg@*fﬁ“mmw“m? |
(A) St (B) R
(C) Srerrn , (D) TR

RO,
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(54) X

119. In which book the first information about the sixteen Mahajanapadas is found?

(A) Anguttar Nikaya (B) Rigveda

(C) Atharvaveda (D) Acharanga Sutra
HIeTe TR 1 WyeH ST fre vie 3 firerdt 2

(A) SR g (B) =%

(C) s (D) SR T

120. Who was the builder of the temple of Angkor Thom?

(A)Jai Varma - First

(C) Jai Varma - II

SATBR 9 % A & Ffdar i an?
(A) @99 - 799

© a9 - fgdg

‘121. Correctly match the following:
(a) Mrichchakatikam
(b) Panchatantra
(c) Mudra rakshasa
(d) Hastaayurveda
option:

@)
®)
©
)

il

iii

iii

ii

ii

(B) Surya Varma - VII
(D) Yasho Varman

(B) g =i - wa
(D) ==

(i) Palakapya

(11) Vishakhadatta

(iii) Vishnu Sharma
(iv) Shudraka

ii

P.T.O.
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(55)
Freafefa 1 T GART -
(a) T e
O (i) remee
o P (i) o 7
SR (iv) 5
forre:

a b . .
@ TR ,
B) i iv i :
© v i ) i
i o S

122 Which were the powers involved in the Tripartite Struggle' to take control on Kanauj?
* (A) Gurjara-Pratiharas, Rashtrakutas and Palas  (B)Gurjara-Pratiharas, Rashtrakutas and Chalukyas

(C) Cholas, Chalukyas and Rashtrakutas (D) Cholas, Cheras and Pandyas
A T stfrpR FO ¥ T Fraefi e’ # Wit witeal Fi-see o2

(A) ToR-icER, Aghe I TA - = (B) ToR-UfER, Tghe 9 A
©) 3, T AT (D) 3w, WAt

123. The devotional songs composed by Bhakti saints of Maharashtra are called?

(A) Vayang | i (B) Tevaram
(C) speeches (D) Abhang
TR ¥ i Gl g T wﬁwﬁﬁfaﬁwmm%7

(A) FEm | (B) da

(C) wforet e Dy

PT.O.
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124,

125,

126.

127.

(56) *
Which pair is not correctly matched regarding Sufi saints and Kendra (place) belonging to Chishti Silsila?
(A) Khwaja Muinuddin Chishti - Ajmer ‘ (B) Nizamuddin Auliya - Delhi
(C) Qutubuddin Bakhtiyar Kaki - Delhi (D) Baba Farid - Gulbarga
et fererfioen & <eifira gt v stk v (T R P g e e T 87
(A) STt gl fereeht - sreri (B) frrmgeedi sitferan - foel
(C) TITE wReram e - feght (D) =l g - T

. ) i . . . ' '"during
Who is credited with the division of each suba (province) into revenue circles and 'Zabt system during

the Mughal period?

(A) Birbal (B) Todarmal

(C) Abul Fazal (D) Mansingh

T Shiet § Felsh G (W) 1 i Heal § sieq 9 ‘sied yonedt’ i 97 Rl e S 82

(A) SRt (B) et

(C) 319w (D) wféE

Which Indian §tate§ were merged under Dalhousie's Doctorine of Lapse Policy?

(A) Satara (B) Jaitpur

(C) Jhansi (D) Karoli

ScTRISi sl AT Af (ST ) % T_q Y TR T w1 forerg et e T o

(A) T '  BWR

(C) wisht (D) et .
Who called the revolt of 1857 as 'India's first freedom struggle'?
(A) Benjamin Disraeli (B) R.C. majumdar
(C) John Lawrence and Seeley (D) VD Savarkar
1857 <hT Shiftl o1 * WK BT e Tl S R ) 3

(A) Sronfi ettt (B) M &, ToaR

S (D). . 3

PTO. |
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128.

129.

130.

Which is not a correctly matched pair?
(A) Brahmo Samaj - Raja Rammohan Roy
(C) Satyashodhak Samaj - Jyotiba Phule
e wE gAferd 3 T 2

(A) & S - ST TR T

(C) TeaRiyeh qHS! - ST Fot

The author of satyarth prakash is-
(A) Dayanand Saraswati

(C) Rajarammohan Ray

TS} VeIl % N ¢ -

(A) SIS Tl

(C) TS TH HIe T

(57)

(B) Veda Samaj - Dayanand Saraswati
(D) Adi Brahmo Sama; - Devendranath Tagore

(B) &% TS - S FEAd!

(D) e 51 |Hr - a5 4 2

(B) E.V. Ramaswamy Naykar
(D) Henry Derozio

(B) 3 3. Tt TEH
(D) & Sferr

The correct chronology of the first three Satyagrahas carried out by Gandhiji in India is-

1. Kheda Satyagraha

II. Champaran Satyagraha

TIL. Ahmedabad Mill-Mazdoor Movement.
(A) I

(C) I-II-III

(B) [I-1II-1
(D) ITI-I-1
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(A) -1

(C) I-II-1IT

(B) II-111-1
(D) mI-11-1
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131. Who first gave the principle of Drain wealth theory ?

(A) Dadabhai Naoroji (B) Raja Rammohan Ray
(C) Vyomesh Chandra Banarjee (D) Bal Gangadhar Tilak
v Trenret 1 faga wdwem fegy fear? ‘
(A) TRT I ARISH (B) T T T
(C) = =5, =Fft (D) o1& TR forih
132. Muhammad Ali Beg led the revolution of 1857 in-
(A) Kota (B) Tonk
(C) Erinpura (D) Neemuch
HigH 3Tt 97 3 1857 Y shifel § e fema- _
QAywad B
(C) g (D) ¥
133. Which peasant movement is reflected in Munshi Premchand's novel Rangbhoomi?
(A) Shekhawati Peasant Movement | (B) Meo Peasant Movement
(C) Marwar Peasant Movement (D) Bijolia Peasant Movement
e i 1 U= Tyfa H o foRam stidier 1 wiaferme faerar &2
(A) IEER fFam stider (B) ¥a fhEM e
(C) W ferdm Side (D) femhiferan fpam sridiem
134. Which of the following folk dances belongs to the Garasia tribe?
1. Waller f . 2.Kood
3. Hathimana 4. Loor
5. Shikari 6. Jawara
(A)1,2,3,4 | (B)1,2,4,6
(©)1,3,4,6 (D)1,3,5,6
e e e 8 T ST & i 3
1. 9T 2. %2
o
’ 6. SO
(DL2d (B)1,2,4,6
(C) 1,3,4,6 D)1,3, 5.6
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135. Rejawati and Nagercholl are the ubiatects of which dialect?
A) Dhundadi

(B) Hadoti

(C) Vagadi (D) Malvi

ToEr SR AR T Sy 5y IYeiferar €2

A5 o @R
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136. With which art Shrilal Joshi is related?

(A)Kavad art | ~ (B)Phadart

(C) Usta art | (D) Theva art

i STt <A1 Heler fohe ehem @ @y 2

(A) FTS el s (B) W el

(C) 3 el : (D) a1 el

137. In which district is the temple of Badoh situated?

(A)Jodhpur - ot 4 (B) Sirohi
(C) Udaipur 5 _ (D) Chittorgarh
et % i o o ﬁfwa%’ ,
(A) SErqueaals (1wl S (B) et
(C) SR e g (D) fdreg
138. Who founded the 'Terapanth DhaJma Sangha in Rajasthan?
(A) Acharya Tulsi ‘ w0 o (B)Acharya BhlkShll
(C)Acharya Jayacharya (e . (D) Acharya Mahapragya
T § e o g9’ aﬁmﬁaﬁﬁ?
(A) 3= gt ~ (B) et fug
GEEREL ] *' (D) = wRIH
139. Which of the following pair (civilization-district) is correctly matched?
(A) Chandravati - Banswara | (B) Pachmta - Rajsamand
(C) Balathal - Bhilwara, .. (D)Nagari - Tonk
et & e g (W—ﬁw) W%?
(A) w5t - sigarst (B) TSI - o
(C) et - sfieraret s (D) T - 3
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Sanga became the most majestic ruler among the Maharanas of Mewar, He took Mewar to the pinnacle
of progress through his efforts, Who said this statement?
(A) Harvilas Sharda (B) Abul Fazl

‘(‘C) Karnal Tod (D) Dashrath Sharma
?@%Wﬁﬁmmmwalﬁmmﬁ%mmﬁmﬁ RIER
TEEEN" 9% Fue frgy wm

(A) T wrar , (B) 379 et

(C) ww efe (D) TRy v

In which phase of Integration of Rajasthan, the princely state of Udaipur joined the Rajasthan Union?
(A) in the fourth stage ' (B) in the third stage

(C) in the fifth stage (D) in the second stage

TSTEAT % ThiohTol 3 fofe =T ey Rl e &9 & witeferd 842

(A) =g =T § (B) Tt o #

(C) = =R § | (D) e = 8

In which academic session was the learning outcomes included in Rajasthan with determined criteria?
(A) 2015-16 : (B) 2017-18

(C) 2018-19 (D) 2019-20

o & Wi 3 s 1 i aeavet 3 wer e e T it ¢ fera T

(A) 2015-16 | (B) 2017-18 |

(C) 2018-19 (D) 2019-20

Which of the following statement/option is incorrect?

(A) Assessment helps in building effective curriculum

(B) Evaluation is objective-centred

(C) Assessment provides intellectual guidance in the teaching-learning process

(D) The process of evaluation focuses only on the subject matter
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(A)Wwﬁmmﬁqmmﬁmm%

(B) TN ST s e

Ok Sliib ik o T —— ,_
(D) 0 o e e '

If the result of a test remaing the same dn different occasions under the same conditions, then what is
- this property called?

((A) Comprehensiveness ' (B)Reliability
(C) feasibility (D) validity
e TRt rem 6 o e eftfeerfs 3 fafiret st o T SR @, A 8 1O N e -
(A) AT : . (B) fargagHiaar
(C) =Ha=Tfwa | ~ | (D) &wm
Who among the following suggested that the word 'Civics Shastra Pohtlcal Science' be used in Social
Science ?
“ (A) National Policy on Education - 1986 (B) CABE Report 1992
(C) NCF - 2005 o (D) National Education Policy 2020

Wmaﬁﬁmﬁﬁwﬁm%wmﬁmﬁ Wﬁmwﬁwwﬁﬁrﬁm WS 1 WA
feram sme- '

(A) Tt e ifer-1986 ' (B)CABE R 1992
(C)NCF-2005 i (D) Wt forem <ffir 2020
"The art of living is a fine art to which social studies contributes understanding". Who gave this statment?
(A)M.P. Moffatt o (B) Aaiskelis
(Cywesley (D) James Hemming
"Fﬁ%ﬁma@ﬁw ms‘m%mwwéaﬁm@m% I”WWW%7
) TR, e : (B) 3Tghfera
(© st i i (D) S &fif
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